SUPERWINCH

SX SERIES SERVICE PARTS

CONTENTS

DESCRIPTION

sXi0

SX105R

—>

sXie

PART NUMBER

SX125R

3’ 4’ 5! 6! 7’ 8!

9,10, 11, 12,

14, 43, 44 Control Box Assembly 90-42642 90-42642 90-42642 90-42642

6 Contactor 90-32492 90-32492 90-32492 90-32492

34, 35, 36, 37,

38, 39, 40, 41 Clutch Assembly 90-42657 90-42657 90-42657 90-42657

22, 45, 46 Motor Assembly 90-42648 90-42648 90-42651 90-42651

7,10 Remote Control Socket 90-42645 90-42645 90-42645 90-42645

9, 25, 26, 27,

30, 45, 46, 47, Small Parts Kit 90-42660 90-42660 90-42660 90-42660

48

1 Tie Bar & Drum Light 90-41443 90-41443 90-41443 90-41443
Fairlead, Hawse

N/A (Not Shown) N/A 90-41446 N/A 90-41446
Fairlead, Roller

N/A (Not Shown) 90-32493 N/A 90-32493 N/A

N/A Hook (Not Shown) 90-42666 90-42666 90-42666 90-42666

N/A Power Cable Kit 90-42669 90-42669 | 90-42669 | 90-42669
(Not Shown)

N/A Remote Control, Wired 90-42654 90-42654 90-42654 90-42654
(Not Shown)
Remote, Wireless

N/A Control (Not Shown) 2277R 2277R 2277R 2277R

N/A Rope, Steel Cable Wire 90-24576 N/A 90-24576 N/A
(Not Shown)

N/A Rope, Synthetic N/A 90-24595 N/A 90-24595
(Not Shown)

101123 | RevD


https://www.superwinch.com/en/products/superwinch/sx10000-12v-10000-lb-wire-rope-winch-1710200
https://www.superwinch.com/en/products/superwinch/sx10000sr-12v-10000-lb-synthetic-rope-winch-1710201
https://www.superwinch.com/en/products/superwinch/sx12000-12v-12000-lb-wire-rope-winch-1712200
https://www.superwinch.com/en/products/superwinch/sx12000sr-12v-12000-lb-synthetic-rope-winch-1712201
https://www.superwinch.com/en/products/superwinch/control-box-kit-90-42642
https://www.superwinch.com/en/products/superwinch/control-box-kit-90-42642
https://www.superwinch.com/en/products/superwinch/control-box-kit-90-42642
https://www.superwinch.com/en/products/superwinch/control-box-kit-90-42642
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-sx10-sx10sr-90-42648
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-sx10-sx10sr-90-42648
https://www.superwinch.com/en/products/superwinch/12v-winch-motor-90-42651
https://www.superwinch.com/en/products/superwinch/12v-winch-motor-90-42651
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42660
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42660
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42660
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42660
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/tie-bar-w-led-light-90-41443
https://www.superwinch.com/en/products/superwinch/tie-bar-w-led-light-90-41443
https://www.superwinch.com/en/products/superwinch/tie-bar-w-led-light-90-41443
https://www.superwinch.com/en/products/superwinch/tie-bar-w-led-light-90-41443
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-90-41446
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-90-41446
https://www.superwinch.com/en/products/superwinch/roller-fairlead-tiger-shark-9500-11500-winch-90-32493
https://www.superwinch.com/en/products/superwinch/roller-fairlead-tiger-shark-9500-11500-winch-90-32493
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/winch-hook-90-42666
https://www.superwinch.com/en/products/superwinch/winch-hook-90-42666
https://www.superwinch.com/en/products/superwinch/winch-hook-90-42666
https://www.superwinch.com/en/products/superwinch/winch-hook-90-42666
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42669
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42669
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42669
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42669
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/wired-remote-control-90-42654
https://www.superwinch.com/en/products/superwinch/wired-remote-control-90-42654
https://www.superwinch.com/en/products/superwinch/wired-remote-control-90-42654
https://www.superwinch.com/en/products/superwinch/wired-remote-control-90-42654
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/replacement-wireless-remote-kit-sx10sr-sx12sr-2277r
https://www.superwinch.com/en/products/superwinch/replacement-wireless-remote-kit-sx10sr-sx12sr-2277r
https://www.superwinch.com/en/products/superwinch/replacement-wireless-remote-kit-sx10sr-sx12sr-2277r
https://www.superwinch.com/en/products/superwinch/replacement-wireless-remote-kit-sx10sr-sx12sr-2277r
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-tiger-shark-11500-winch-90-24576
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-tiger-shark-11500-winch-90-24576
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-tiger-shark-9500-11500-winch-90-24595
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-tiger-shark-9500-11500-winch-90-24595
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.superwinch.com/en/products/superwinch/clutch-assembly-sx-series-winch-90-42657
https://www.superwinch.com/en/products/superwinch/clutch-assembly-sx-series-winch-90-42657
https://www.superwinch.com/en/products/superwinch/clutch-assembly-sx-series-winch-90-42657
https://www.superwinch.com/en/products/superwinch/clutch-assembly-sx-series-winch-90-42657
https://www.superwinch.com/en/products/superwinch/remote-control-socket-90-42645
https://www.superwinch.com/en/products/superwinch/remote-control-socket-90-42645
https://www.superwinch.com/en/products/superwinch/remote-control-socket-90-42645
https://www.superwinch.com/en/products/superwinch/remote-control-socket-90-42645

SUPERWINCH

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 1710200-12-1 TIE BAR 1
2 1710200-13 DRUM, SX 1
3 1710200-15-1 LID, CONTROL BOX, SX 1
4 1710200-15-2 DUST COVER, SX 1
5 1710200-15-3 CONTROL BOX BASE, SX 1
6 1710200-15-4 CONTACTOR, 12VDC 1
7 1710200-15-5 SOCKET, REMOTE CONTROL 1
8 1710200-15-6 PIN - DUST COVER 1
9 1710200-15-8 SOCKET SEAL 1
10 1710200-15-12 SCREW, FLAT HEAD M3 2
1" 1710200-15-11 SCREW, SOCKET HD M4 4
12 1710200-15-10 SCREW BUTTON HD M4-0.7*8MM 1
13 1710201-15-16 (SX10SR/SX12SR) WIRELESS RECEIVER SX 1
14 1710200-15-17 INSERT, CONTROL BOX 1
15 1710200-16 SCREW, SOCKET, M8 4
16 4-51-0823 M8 SPRING WASwWHER 4
17 1710200-20 BADGE SX LOGO 1
18 1710200-21 (SX10/SX10SR) BADGE SX-10 (SX10/SX10SR) 1
1712200-20 (SX12/SX12SR) BADGE SX-12 (SX12/SX12SR)
19 1710200-22 DRIVE SHAFT 1
20 1710200-11-3 DRUM SUPPORT - MOTOR END 1
21 1710200-11-1 MOTOR HOUSING 1
22 1710200-11-2 (SX10/SX10SR) MOTOR, 12V, 5.5 HP (SX10/SX10SR) 1
1712200-1-12 (SX12/SX12SR) MOTOR, 12V, 6.0 HP (SX12/SX12SR)
23 1710200-11-4 SCREW, BUTTON HEAD, M5-0.8 X 20MM 4
24 1710200-11-5 WASHER-M5 SPRING 4
25 1710200-11-9 GASKET, DRUM SUP-DRUM 2
26 1710200-11-10 DRUM-BEARING 2
27 1710200-11-8 BRAKE 1
28 1710200-14-2 DRUM SUPPORT, GEAR BOX END 1
29 1710200-14-1 GEAR BOX SX 1
30 1710200-14-7 GASKET, GEARBOX-DRUM SUPPORT 1
31 1710200-14-4 GEAR TRAIN, SX 1
32 1710200-14-10 WASHER, SPRING M6 8
33 1710200-14-3 SCREW, SOCKET HEAD M6 8
34 1710200-14-11 SET SCREW, M6 1
35 1710200-14-5-1 CLUTCH BASE 1
36 1710200-14-5-2 O-RING, 23MM I.D. 1
37 1710200-14-5-3 CLUTCH PIN 1
38 1710200-14-5-4 O-RING, 11MM 1.D. 1
39 1710200-14-5-5 SPRING, CLUTCH 1
40 1710200-14-5-6 CLUTCH HANDLE SX 1
41 1710200-14-5-7 SCREW, CAP HEAD M4 1
42 $102731 SET SCREW M8 X 1.25 - 10mm LONG 1
43 1710200-15-18 SCREW - PHILLIPS HEAD M6-1.0*8mm 2
44 1710200-17-2 SCREW - BUTTON HEAD M5-0.8 X 25mm 4
45 1710200-11-7 GASKET, MOTOR-DRUM SUPPORT 2
46 90-42660-3 O-RING, MOTOR BOLT 2
47 1710200-14-6 BALL BEARING, GEARBOX 1
48 90-42660-1 BUSHING, GEARBOX SX 1

101123 | RevD



https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor

SUPERWINCH' =><

101123 | RevD


https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor
https://www.pdf-xchange.com/product/pdf-xchange-editor

